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1. 9316 J(ad (@7 Ao 938 ©f (3,-4) [sin(Iaod
TP AT S|

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_eAard8pCcSLH
https://dl.doubtnut.com/l/_XTs9OPgeCXn3

2. PIAT J@7 @w(2,-3) [yre a3 oi(5,1) s,
335 TP AT Bl

° Watch Video Solution

3.5z% + by? — 8z + 6y — 15 = 0 J(3J (PTad THIE 3

e fAefy S|

° Watch Video Solution

4,32 + 12 — 5z + 2y + 5 = 0 J(&d AQEGD TH1BI

AT B

° Watch Video Solution



https://dl.doubtnut.com/l/_XTs9OPgeCXn3
https://dl.doubtnut.com/l/_ooKtXQAFd97c
https://dl.doubtnut.com/l/_lyP671Hr0P4r

1 1
5.z = 5(1 + 5cosf),y = 5( — 2 + 5sin#), Jafbd

TaIPA fAfa S|

° Watch Video Solution

6. 202 + 2y + 5z —Ty—1 =10 J(ad AT

9B HT(concentric) 9BB Jrad W&f@ aFd

335 TP AT Bl

o Watch Video Solution



https://dl.doubtnut.com/l/_lyP671Hr0P4r
https://dl.doubtnut.com/l/_0IHdo7zZGlrh
https://dl.doubtnut.com/l/_dkNZSd9s0PNn

7. AN 6l q,
?+yY—2r+6y+1=0,z24+9y*+4c - 12y +9=20
AR 2+ — 16 =038 fodAlbd @asfd  9s

NIRRT B[RO

° Watch Video Solution

8. a6 Ja(1,6),(2,1),8 (5,2) Iwsat, Jalog SIHIdAd,

(PTHI A 3 I fAfy S|

° Watch Video Solution



https://dl.doubtnut.com/l/_2aOTVc6mJqED
https://dl.doubtnut.com/l/_0rYWpULuLgZF

9. a6 e fagod ©@gEd TAIRAT
202 + 29>+ 3x —y— 5 =0 2A Ia\gﬁﬁ'ﬁ GHadped

IBREEIGI

° Watch Video Solution

10. 9316 J@EI MPIT T 22 + y2 — 4z + 6y +4 = 0,
JBI6A SMATS NIBA AOTHI6 [ SRBIA AT TR (i)

(1,-1) (i) (-1,2) (iii) (-1,3) |

° Watch Video Solution



https://dl.doubtnut.com/l/_nCHqwqPGoYLO
https://dl.doubtnut.com/l/_WDGvJD1BxDpH

11. 93 & (2,3) 8 (-6,1) PSR 932 BT &% 3x-
2y+8=0 SIAIIT 3513 TIIFo| Jalod Ttbaet AT Fi|

o Watch Video Solution

12. 5 933 IR @ I3 (3,4) 8 (-1,2) [yt ©i7
TaIPAT AT T

° Watch Video Solution

1
13. (@ a9 I, FeIfav, 3 (a3, —3) G IR
a

SIFARYI, BIF TAIBIN AT WM ITA IR @, Jao

(1.0)


https://dl.doubtnut.com/l/_ndmTlh9Nrloh
https://dl.doubtnut.com/l/_JJX3vEXGNQnr
https://dl.doubtnut.com/l/_vvgZtzLboKmG

° Watch Video Solution

14. (Y18 (T 3x+4y=12 NI O 7fod TYTqo! (2ffo

I[P 7 B AF© J3 Ferfqysii]

° Watch Video Solution

15. 935 33 x TR Jeriave = B, IW Jaib (h, k)
TSIt 2, B 33l MBI fAfg S|

° Watch Video Solution



https://dl.doubtnut.com/l/_vvgZtzLboKmG
https://dl.doubtnut.com/l/_NBoQEOqERkPn
https://dl.doubtnut.com/l/_onvKmGaXVZk8

16. ABCD 436 J5GHa 3 ©IF IBJ LT a, AB 8 AD
@ IAHW x 8 y &% 4@ ABCD Is(GH(ad Afqrad

TP fAST S|

° Watch Video Solution

17. X*+y*+4(x+y)+4=0 92 I8 9IR x+y+2=0 NI

@ISR (T J(ad (% YT Y0 G[E0 Bid b

AT S|

° Watch Video Solution



https://dl.doubtnut.com/l/_e0MV4SdoNQJU
https://dl.doubtnut.com/l/_8miJB3ODY4w8

18.B(3,0) 8 C(-3,0) UG awa v, TM A 98+ 916 79 =T
Ao L/ BAC=90°, ©d M3 (T ABC faglod IBITHY 2

935 I3 932 BIF TNDAT , x*+y*=1

° Watch Video Solution

19. (T8 (F, X*+y*+6x+14y+9=0 A2 x*+y*-4x-10y-7=0 I3
TG J7=IT IR F| I3 7fod MRS =x{Ha Terdact

IBRREAGI

° Watch Video Solution



https://dl.doubtnut.com/l/_8h2UiJ0x3oQk
https://dl.doubtnut.com/l/_KGQn79XkupiG

20 M8 (@, z’+9y* —8x —4y—16=0 4
2 2 B .
z? +y? — 2z +4y+4 =0 33 4o 9@ o=

I 9 BIoE =g BRI A T

° Watch Video Solution

2. W18 &, 22+ +6x+2y+8=0 4aR

x2 + 12 + 2z + 6y + 1 = 033 7fb 997IF (@ |

o Watch Video Solution

22, I8 &, x*+y’+29x+2fy=0 4R

z? +y? +29'x+2fy=0 33 7o 3o da=g =f


https://dl.doubtnut.com/l/_E3WHHVedqLfy
https://dl.doubtnut.com/l/_nLm68HI49BVY
https://dl.doubtnut.com/l/_c00vNrII0rkB

PAQ, M gf’ = fg' I

° Watch Video Solution

23, e’ +y? —4z —2y—31=0 a3e
2z + 2y* — 6z + 8y — 35 = 0 J& WGJ NYIAT St a7
THIBAT FATT 7 9R ™18 @, 8% ot 16 I3 od &w

G NI TIRE

° Watch Video Solution

24, e+ —x+Ty—3=0 SN

m2+y2—5x—y+12083§§6ﬁ3(§ﬁﬁﬁmm


https://dl.doubtnut.com/l/_c00vNrII0rkB
https://dl.doubtnut.com/l/_Xrh6n3w3gnSw
https://dl.doubtnut.com/l/_hutPkaYyDyAm

AT 9B(6 Y39 @¥ /Y z + y = 0 98 [T I 8994

QTBA a6 T TNdd fAfT Bf|

o Watch Video Solution

25. (I8 (T, 936 I8 TP 6@ = A 932 BIF

@4 lz + my + n = 0 F@YT 7 89 OI[AfFO et 3%

Iz 57 ¢899 orfBe 2@, @ g B wnead
(l—|—m)2(x2+y2)+2n(l—|—m)(x—|—y)+n220

(d

o Watch Video Solution



https://dl.doubtnut.com/l/_hutPkaYyDyAm
https://dl.doubtnut.com/l/_PZVCGcXTqXZF

26. 9315 33 TS (@ (2,0) o =4 W y WEHI O

4 95D (2ol foq BEI 3 b TRdad Ay B4l

o Watch Video Solution

27. 18 @ 22 + 2 + 4(z +y) + 4 =033 6 AT

oi% o B @ 9% J@ aRzx +y+2=0
IR (@nldw, sif @ g8 Jerfavy, g oig weidadt

fAdg3a |

° Watch Video Solution



https://dl.doubtnut.com/l/_vRo1wDMIs2rP
https://dl.doubtnut.com/l/_BCZUWDRXoXQ8

28. 0 A9 TH Y2 @I Al @4, 919 II &

xcosf + ysinf = a,xsinf — ycos@ = b  AJeTQYT

54 (RMiqvd B 2 9B6 g3 2T

° Watch Video Solution

29. 22+ 4y — 4 —5=0 9%’ + ¢y  +82+7=0
33 75 LIRS St (@ I 4| (T I3 AR Il W ©IF

STHIBAY AT F1

° Watch Video Solution



https://dl.doubtnut.com/l/_TEq9vXSSWJnY
https://dl.doubtnut.com/l/_RtUWQWHhisq3

30. 22 + y? — 4z + 2y — 20 = 0 38 o7 @7 8 P
ﬁcrzramq—]%‘ae%czrﬁﬁ(z —) I 163 S

fAPba0! BIF BAIE AT FI

o Watch Video Solution

3. 998 SKeTwl %+%:1 ATASIE

1 1 1

— b—Q:—Z,czrzmcaa?%mmzneczr,W
C

(U TR 57 @97 Ao A FAGwg FBIAL 936

33l 38 153 tdadt Ay a3l

o Watch Video Solution



https://dl.doubtnut.com/l/_XHPNdcO9J8ya
https://dl.doubtnut.com/l/_VBHDxAnnUjgI

32, FAIE Swifdfod SRy 9819 St (&, oy a7 (@I

a4 AATPITI

o Watch Video Solution

33. z? + ¢ = o? J@7 899 THEO (a,0) Y A
TEO Sl (2] TG TR HAT TIPS fAST B

o Watch Video Solution

34. 2 +y—1=0 WAl 22 +y*> — 6z — 8y = 0

33 51 A 8 B Iv(o (@ W O1R J(ad T AT B

17 9B I ABI


https://dl.doubtnut.com/l/_OBAJKaHQY2w0
https://dl.doubtnut.com/l/_csPJ8zWepHTC
https://dl.doubtnut.com/l/_ivp5aclhIvVL

o Watch Video Solution

35. Yeifdy, @ T QR y=2 8 y= —z GY

ST (AP a e S7=1F Tl foq B[, 987 48 Bfeid

STAIBAY AT FI

o Watch Video Solution

36. T B, 9BI6 gna MIART L 1, x TP 9IR y TTH

(@ IS P 3Q 9O (@ FEI L 1 899 917 S ©ifFo

O[T B MAARTL 2, x 8 y O3S (B IS R 8 S fImg
(© IEI @18 (T PS 932 QR AT wfGd (2w f[avd

T8I A et Ferfayy siify 9B Jal



https://dl.doubtnut.com/l/_ivp5aclhIvVL
https://dl.doubtnut.com/l/_fEbAq6QMOIPO
https://dl.doubtnut.com/l/_KHhW0cbXTf2O

l o Watch Video Solution

37. (RIS (T 22 + y? — 2y — 15 = 0 g 16 7 sl

2 +y* — z — 30 = 0 J(3d J(4T AIFO|

° Watch Video Solution

Lz +y* + 4z + 6y + 13 = 0 I3 IO -



https://dl.doubtnut.com/l/_KHhW0cbXTf2O
https://dl.doubtnut.com/l/_bp9yRN1ZeYo7
https://dl.doubtnut.com/l/_SuPZIUqjEgZW

Answer: A

° Watch Video Solution

2. 22 + y? + 4z — 2y = 20 J(&J N IABfGd @ I8
JeASITET B1F 7Y

A.10 9B

B. /2095

C. /5 93D


https://dl.doubtnut.com/l/_SuPZIUqjEgZW
https://dl.doubtnut.com/l/_QY6J18Zjc4nc

D. 9d (BIHITB2 AT

Answer: C

o Watch Video Solution

3. A(3,-5) 932 B(-3,7) fa™ wGd TP @™ (T Jrad
T BIF TR DI
Az +y +2y+44=0
B.z> +¢y? —2y+44=0
Cal4+y?+2y—44=0

D.z’ +y? —2y—44=0


https://dl.doubtnut.com/l/_QY6J18Zjc4nc
https://dl.doubtnut.com/l/_PMsLn3rC8Uon

Answer: D

o Watch Video Solution

4.(z +2)° + (y — 3)* = 43aC=fIw

A. GSIOTH D
B. X OI3h (D
C.y OH (P

D. aid (PIAIG2 A

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_PMsLn3rC8Uon
https://dl.doubtnut.com/l/_lC6GzjnfXYb8

5. 2% +9° + 29z + 2fy + c = 0 7T 936 ¥ I8

60 2T IUF
Agi+fi= —c
B.g° — f°=c
Cg’+fi=c
D.f2—¢’=c

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lC6GzjnfXYb8
https://dl.doubtnut.com/l/_JQep3rpL5s2n

6. R MREIE] fagrod Mo fet

z? + y? — 4z — 6y — 23 = 0 Ja4 ARAfIT 397 =IfFO

OId GHaDd (I5f 9BP) 2W-

A.27+/2
B.27,/3
C.27,/5

D. 25,/3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2WyiiC3nvDlL

7. BIAT 9BIb J(ad IO i3I IS (%, 3) 8 (3, 5)
932 J33 (@9 (2, y) A X, y-99 T~ IS —

A.2,3

B.1, 4

C.3.2

D. 4,1

Answer: C

o Watch Video Solution

8. 164 @I TG 22 + y? = 13 I3 397 TAB0 ?


https://dl.doubtnut.com/l/_K83Xsg2qkxEY
https://dl.doubtnut.com/l/_TeMcomVTuaDc

A. (0, 2)

B. (O, 3)

C.(0,3)

D.(2,3)

Answer: C

o Watch Video Solution

9. M6 @ 96 (z — 2)* + (y+3)® = 25 J&d
3949 B[fFo ?

A. (0, 0)


https://dl.doubtnut.com/l/_TeMcomVTuaDc
https://dl.doubtnut.com/l/_pFLWUVmSDoAk

B. (-2, 0)

C.(1,-4)

D. (O, -2)

Answer: B

° Watch Video Solution

10. 936 33 22 + y? = 8 @I NF IP@UT 93 BIF
T 4 9FF, BIR(EA A6 (BIAIG JBIBI TAIDBIT ?

Az?+y? =14

B.z? +¢y% =1


https://dl.doubtnut.com/l/_pFLWUVmSDoAk
https://dl.doubtnut.com/l/_1wL87lHdZXQu

Cz? 4+ y* =12

D.z% + y* = 16

Answer: D

° Watch Video Solution

1. AT @ADL z2+9y*+4c -8y —5=0 I
JIT?

A. 5 9FF

B.4 93

C.3 99


https://dl.doubtnut.com/l/_1wL87lHdZXQu
https://dl.doubtnut.com/l/_hpw9xCYOhPJX

D. 6 Q3P

Answer: A

o Watch Video Solution

12. 22 + 2 — 4z + 6y — 12 = 0 J&d @ @IEAT [Ivgro

OIfGeTy SIMie 16 (DI 9o F<T ey Ti?

A (2,3)
B.(2, —3)

C.(—23)


https://dl.doubtnut.com/l/_hpw9xCYOhPJX
https://dl.doubtnut.com/l/_wjjm2Xj0Ds9G

Answer: B

o Watch Video Solution

13. M3 @IATS 562(z — 4)* + (y — 3)° = 938f

A. x-BRH B = B
B. y-OIIH (@ =1 B

C. G5 G @ = FE

D. (BIAT SR D = B At

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wjjm2Xj0Ds9G
https://dl.doubtnut.com/l/_PKbOMXdWxnsq

14. 22 + y*—z — 4y + 7 = 0 9T 96 J@&I TNda
5w o7 P At IS T IEI

o Watch Video Solution

15. 9316 a7 @7 (3, -1) f[¥re a2 ©f (6, -5) fAvsia,
3353 MtPa AT Bt

° Watch Video Solution

16. 164 SOTHIG Jad (BTud BIAIE 3 TN fAfy Sear:

d? + 4% = 25

| & |


https://dl.doubtnut.com/l/_PKbOMXdWxnsq
https://dl.doubtnut.com/l/_5nX315v5hIBK
https://dl.doubtnut.com/l/_fTz6E2czJDHJ
https://dl.doubtnut.com/l/_mOsq8RGbZkcQ

l & Watch Video Solution J

17. 64 SOTHIG J(ad (@THd BIAF 3 PNy fAfy Frat:

22 +y? -3z +2y—19=0

° Watch Video Solution

18. (64 SOTHIG Jad (BTud BIAIE 3 TS fAfy Sear:

3(:1:2—|—y2) = bz + 6y — 4

° Watch Video Solution



https://dl.doubtnut.com/l/_mOsq8RGbZkcQ
https://dl.doubtnut.com/l/_5wsgdPjLs7YH
https://dl.doubtnut.com/l/_sTneBccXWgsq

19. A6 SOTHIG J3d (Bud BIAIE 3 TS fAfy Seat:

(z—a)’+ (y+b)(y—b) =0

o Watch Video Solution

20. Bt @ ax? + 2hay + by®> + 29z + 2fy+c =0

gidt 33 oo 2T S IR 932 9% *(© Jalbd @

EARIEARR RG]

o Watch Video Solution

21. Find the radius of the circle which passes through

the origin and the points (a, 0) and (O, b).


https://dl.doubtnut.com/l/_ke6SprIT4xOu
https://dl.doubtnut.com/l/_GNVkEG0PRUgJ
https://dl.doubtnut.com/l/_bZFA5pVhIvXv

° Watch Video Solution

22. (2a, 0) 3 (0, -2a)F¥ BfB SWEd @I (T Jad

I I TTBg AT Bl

° Watch Video Solution

23. (3,7) 8 (9,1) f7¥ 7fba MWSd @ (T Jrad I

Gl ST IBg fAdg Bt

° Watch Video Solution



https://dl.doubtnut.com/l/_bZFA5pVhIvXv
https://dl.doubtnut.com/l/_hU8ChbXa9Rvr
https://dl.doubtnut.com/l/_3aPVv6JwIiNF

24. fAxfafie Iarsfag Jr @B 5if5®? (0, 0) vl

z? +y*+ 22 —2y—2=03@A

A. afafda 89
B. dfdfyd feo@

C. df3f4q I e w|

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hY6HQS3ezlFg

25. fAnferfde Izarsfag Tt @A fd5d? (2,1) [yl

w2+ — 4z +6y+ =03@A

A. Teo

B. 341

C. I d BB 0|

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_gHhePKL0P0Hd

26. 2% + y>— 3z + 2y — 19 = 0 J& SATH(-3, -2) ¥

G fAdg @

o Watch Video Solution

27. 22+ P —4dx +6y+9=0 J@d (1,2) st

IO T fAdfg St

° Watch Video Solution

28. 3z—y+7=0 AJeTT

z? + y? + 4z + 2y + 1 = 0 3@ P [Iyro a3l =<,

p 7@ J&3 TIfeertaa TP AT S|


https://dl.doubtnut.com/l/_Kj4VmYDHYXlI
https://dl.doubtnut.com/l/_QOZwJOSRpgGR
https://dl.doubtnut.com/l/_UGz8h1C4l1Ou

° Watch Video Solution

29. 22+ y® + 4z —Ty— k=0 J@I IOE WET 9

AFP, k-a9 T AT St

° Watch Video Solution

30. 2z° +2y* + ax + by + c = 0JET (PTu FAIE

(3,-4) A, a 8 b-ad T AT Bl

° Watch Video Solution



https://dl.doubtnut.com/l/_UGz8h1C4l1Ou
https://dl.doubtnut.com/l/_yDXLn8O7n7Hj
https://dl.doubtnut.com/l/_RLJVQYjs8J6L

31. ABI6 I3 FeAv (AP +3 9D W{ GoT OITH D =
I, J364 MBI fAIT I

o Watch Video Solution

32. SEi Jad TGP T
r= —3+cosh,y=1+sinh, Ja06I THBIT AT

DI

o Watch Video Solution

33. 936 Jad TPIT 22 +y? + 20 —dy— =0

3(c1 43fbd GHamel fAIT B


https://dl.doubtnut.com/l/_IDRMjund8I8F
https://dl.doubtnut.com/l/_7f9GKljh01hk
https://dl.doubtnut.com/l/_lLg2x5sr6gnh

° Watch Video Solution

34. 2% 4+ y?— 2z + 2y — 38 = 0 Ja6I AL Fo ?

o Watch Video Solution

35.2% 4+ y* — 4z + 6y + 4 = 0336 APNY PO ?

° Watch Video Solution

36. 22 + y% + 4z — 6y — 13 = 0 J@&T TF 9B AY
ARz + y?- 8z — 10y — 8 = 0J(@d (&SI Jrad

SIS AT Bt


https://dl.doubtnut.com/l/_lLg2x5sr6gnh
https://dl.doubtnut.com/l/_Jpu4gIdQcRFH
https://dl.doubtnut.com/l/_HaEgxkiTaPId
https://dl.doubtnut.com/l/_8eLILARfGFri

° Watch Video Solution

37. 2+  + 20+ 2y — 23 =0 J@7 @@ @
AR z —y+ 8 =0 AR 897 &%, 7

TP fAofg St

° Watch Video Solution

38. AIt6 dmg RSt Jooryed THId Ay St

(0,0), (1, 2),(2,0)

o Watch Video Solution



https://dl.doubtnut.com/l/_8eLILARfGFri
https://dl.doubtnut.com/l/_tNlxjUIqWuuP
https://dl.doubtnut.com/l/_KYwTGmCmdgAD

39, AI6 dwg syt Jooigd Sipad fAdy IEt:

(2, —1),(2,3),(4, — 1)

o Watch Video Solution

40. Y18 ( (2,0), (5, -3), (2,-6) 932 (-1, -3) 79 5136 9B
J(@d 857 T | Jaf6d THIPAT 8 (@TEd A Ay

G|

o Watch Video Solution

41. 4914 Q& wz—i—yz—i—le—i—Q:O,

P+ y? —6z+2y+1=0 a2


https://dl.doubtnut.com/l/_2WC6gp597hsI
https://dl.doubtnut.com/l/_ag1GI5Y8yESy
https://dl.doubtnut.com/l/_HD7veD3W6VbB

~— =

22+ y? — 18z — 4y + 21 = 0 J& fGABT @7 foAl

A6 TR 899 TR0, FAELGd TP fAdy

DI

o Watch Video Solution

42. W18 (@ , A6 aa 35 foAiod (Fusfel adEdT 432
amg IPNLSfA T8 gsifere @il 22 + % = 1,
z? +y? +6x+2y—6=0,

2 +y? — 120 +4y—9=0

° Watch Video Solution



https://dl.doubtnut.com/l/_HD7veD3W6VbB
https://dl.doubtnut.com/l/_YtIKOnwEuHvs

43, gAY 9B6 J(ad 9D oS Jfoo (ol
IAFE 3 8 4, Jaibg Mpad Ay @i Jafdd
FARSITAT IO TP AT BTt

° Watch Video Solution

44. 2z + 3y = 6 HARYID AT O 7fod N @

fager Go47 I, i AIfARIT Ja MtBd AT Bt
Jaiba I Fo?

° Watch Video Solution



https://dl.doubtnut.com/l/_SlcnvGh4kgbh
https://dl.doubtnut.com/l/_doGGdpYcZAf0

45. (T (34 @IAT IO 1379 7o BRI (4, -2) 9R
(-1, 3), ©IF IBIT fAfT I@IN 38 Jad Ferlqwsiat
B STeneat e St

° Watch Video Solution

46. 936 33 (-2, 5) 8 (4, 3) TYPIF aR 97 @&
2z — 3y = 4 RARYII 397 wIFw| Jalbod MIpad

fAadg @t |

° Watch Video Solution



https://dl.doubtnut.com/l/_Jnrsqgtj6au6
https://dl.doubtnut.com/l/_aP6ddY7NvGyy

47. (3, 4) a2 (-1, 2) ST 997 a6 Jrad THIBId

AT B!, T (@F x-y = 4 IR 399 BAEO|

o Watch Video Solution

48. 936 J@d @¥ 5z — 2y + 1 = 0 RARYT 397

TREG 932 JBIH x- W@ -5 3 3 GRS 6 o

(W B, 315 T DI 932 LT T Bt

o Watch Video Solution

49, (BIAT (39 9B FOR THBIT R 2z —y+ 4 = 0

a3e 330 (4, 6) 8 (1, 9) ¥sIAT JaBd MBI, FTad


https://dl.doubtnut.com/l/_hcrR4oczwS6R
https://dl.doubtnut.com/l/_5wjTznShj7dW
https://dl.doubtnut.com/l/_y1vvAnYBXlIi

BAIE 8 I fAT Bl

o Watch Video Solution

50. 5 9D IPNLRFE @ I3 (-6, 5) 8 (-3, -4) IS

Gl ST IBg fAST Bt

° Watch Video Solution

51. (-2, 2) et g wfb JCK SIS IW@E
3z +y=53aR z +y+ 1 =0, Jabd BT 8 BIF

Irone AT St

o Watch Video Solution



https://dl.doubtnut.com/l/_y1vvAnYBXlIi
https://dl.doubtnut.com/l/_qFmPdiFy8FiU
https://dl.doubtnut.com/l/_jRthIqSvWg1r

52. 936 J& (-3, 4) 3 (1, 0) I 92 BF &% x-
OIEHd 399 OF0 , J36d TNI1pI fAfT St

° Watch Video Solution
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